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 �������	
∗
ITU-R M.1731-1  

���� ���	
�� �
���� �
�� �
���  

 ����
�� ������ �Cospas-Sarsat  ������ �MHz 1 545-1 544  
(2010-2005) 

������� 	
�  

 ������� 	�
��� � ��
� ������� ������ ���� ����� ������� ��! "#�Cospas-Sarsat  � �$%��� &��
'����� MHz 1 545-1 544 � ���� ����( )� ��*�! +,�- �#./�� ��0�1 +���2�- 3�4� �$����* 56%��� +���2� .

 8��96* :���-Cospas-Sarsat  �;�(6� &�� +���<=� �>���- ?�$%�(������+� �����@�6�  2�2A����"B�  +C�D �
E������ (EPIRB)  ���� &�� F6G4� �H�I�(C� +�����-@@6�* MHz 406.  +��
� :J +���<=� �(6K� +C�L� M�* �-

 '����� � ���� &�� ��*�N� ������ OP ��0�4�MHz 1 545-1 544.  

QJ � ����@�6�� +C�R�C� ���S+C�R�,� T-2�� @�U,� ��*���V  

�������� 	 
�� 
�  

 ( 1   ������� Q1ITU-R SM.1535 X�;�Y Z�[6�� �[ +C�(�=� )� ��,��� +��2G ���� :J �P2�  

(Z   \�%9=�- ]A$�� ������� ������ 	�
��� Q1(Cospas-Sarsat)  '����� �G�@ ����MHz 1 545-1 544  6R�%� ^���
 _B6�� `a�b356.5  ��@�6�� cd��� )�(RR) ��,���- �H�I�(C� +C�R�� e�P+C�R�� V ����@��  )�X3�4� :J f�#.��  

(g  X+�h�����- i�-�4� � 6d��G :J ^@j� 2B ��,��� +��2G k� 36��� ^��� ��#�� �G�2��� Q1  

( @   3�4� :J �$����* 6%��� ��2� � ���� �����* ��$�6�� ��
� ������� ������ Q1(GEOLUT)  �
	�
��� Cospas-Sarsat  '����� � �$%���MHz 1 545-1 544 �� +���<J���+� �����@�6�  2�2A����"B�  �

+C�D E������ (EPIRB)  )� ��Dl6�� 3�4� :J �$����* 56%��� �m�$�� �(��2� +���2� � ���� ����((GOES)  
 ����(-Meteo-Sat )� n�o�� ��>� (MSG)X  

( !   �#./�� ��0�1 +���2� � ���� �����* ��$�6�� ��
� ������� ������ Q1(LEOLUT)  	�
��� �Cospas-Sarsat 
 '����� � �$%���MHz 1 545-1 544 �� +���<J���+� �����@�6�  2�2A����"B�  E������ +C�D �(EPIRB)  )� ��lD6��

 \�%9=�- ]A$�� +��l6h�(SARR)  ����( �Cospas -SarsatX  

( -   �#./�� ��0�1 +���2� � ���� �����* ��$�6�� ��
� ������� ������ Q1(LEOLUT)  	�
��� �Cospas-Sarsat 
 '����� � �$%���MHz 1 545-1 544  +������ )� ���p- q����P �>��� +����� rY2������@�6�  2�2A����"B�  E������ +C�D �

(EPIRB)  ]A$�� +�2D- � �>��� �!-\�%9=�- (SARP)  ����( �Cospas -Sarsat.  

s (   ��(��� ��0�1 +���2� � ���� �����* ��$�6�� ��
� ������� ������ Q1(MEOLUT)  	�
��� �Cospas-Sarsat 
 '����� � �$%���MHz 1 545-1 544 �� +���<J���+� �����@�6�  2�2A����"B�  E������ +C�D �(EPIRB)  )� ��lD6�� ��
91

 ��(��� ��0�1 +���2� � ������� �������� �D,��(GALILEO)X  

____________________ 

∗
 {����& ���Z< YaUG� Cospas-Sarsat � 4�|(	� ��FG�z��	� b�8� (ICAO) � �
	��	� ���[U	� ��FG8� (IMO).�
1��	� uv} 2��*0 6  
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(i   rA��� Q16 +�9s��� )�#��  ������Cospas-Sarsat �#./�� ��0�1 +���2� e�P ��It���* r���� ���Y (LEO) 
 ��(���-(MEO) 3�4� :J �$����* 56%��� ����( ��2� e�P- (GEO)  ��t� ���D 1�(1 _�B )� �$�6B _�B u�(1 e�P

" @����� � rA��� � �;��J ���DM./�� F����V"  

����  

1  ������ k� 36��� ^��� �G�2��� ���U Q�h� Qw*GEOLUT  	�
��� �Cospas-Sarsat  	2/��� &��
������� GOES  rA��� u�(1 e�P1X  

2  ������ k� 36��� ^��� �G�2��� ���U Q�h� Qw*LEOLUT  	�
��� �Cospas-Sarsat  rY2� �$%��� &��
+����� )� ���p q����P �>��� +�����EPIRB  rA��� u�(1 e�P V2X  

3  ������ k� 36��� ^��� �G�2��� ���U Q�h� Qw*LEOLUT  	�
��� �Cospas-Sarsat +���<J �$%��� &�� EPIRB 
 @@6�*MHz 406  	�
��� � �#./�� ��0�1 +���2� � ���� ����( )� ��D6��Cospas-Sarsat  rA��� u�(1 e�P3X 

4  ������ k� 36��� ^��� �G�2��� ���U Q�h� Qw*GEOLUT  	�
��� �Cospas-Sarsat  	2/��� &��
������� MSG rA��� u�(1 e�P V4X  

5   ������ k� 36��� ^��� �G�2��� ���U Q�h� Qw*MEOLUT  	�
��� �Cospas-Sarsat  	2/��� &��
������� GALILEO rA��� u�(1 e�P V5.  

  

  

 

 �����1  

 ��	
�� 
�
� ��
��GEOLUT  �
���� �Cospas-Sarsat�   

 ��	
�� ������ !�� "	�#��� �$
% � &'#�� (�(��� 
�#�)�*�� ��	
���EPIRB   

�� ���#��� 
�+�#, 
�%*GOES  -
���� �MHz 1 545-1 544   

1.1 �
��
  

 ����( Q�h�GOES  	�
9 � \�%9=�- ]A$�� +��l6hb 5@l-x�Cospas-Sarsat 5�@�� +���<J +��6h�� ��! �$%���- V
 +������ )PEPIRB  @@6�*MHz 406  ������ :J �;�D6K�-GEOLUT  	�
��� �Cospas-Sarsat  ������ +�@@6� e�P

 '����� � ��*�N�MHz 1 545-1 544 ��@�6�� cd��� 	�hDw* q,�P- .(RR) '����� QyY VMHz 1 545-1 544  zR{
:J  �������� ��%���� ��2|�(MSS) _B6�� `a�b 6R�%� �!- V3�4� :J f�#.�� )� V356.5  ��@�6�� cd��� )�(RR)  e�P

������ Qwt* �G�2��� )� ����L� ����� rA��� ��! � ���A��� @2}- .��,���- �H�I�(C� +C�R�� GEOLUT 
&��  ������ ��*�N� ������ e�P +���<J �$%���GOES  '����� �MHz 1 545-1 544.  

2.1   ���� ��� 	��������
�� �� ����� !���� �
 ���
"�� EPIRB #$%�� ��&'��( ��(��) GOES  

�#�� �th�� �B@ ~6�t� @@6�* �H�I�(C� +����� )P Q�MHz 406  ����( +��6h� ?����(�*GOES @@6�* MHz 406 V
 +��$�� � w�|� ?2�� s-���� C1(BER) ��2%� 5��%�� �5  5−

10 ×.  
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3.1  �*
+, &��- .����� �*�' ��/����(spfd) �&0����  

 +��$�� � w�|� ?2��(BER)  V+����� ��* �� � �B���� �$�9 �! +C�R�� 5��%�Eb �Y�o� Q�h��- .f�0�#�� �Y�o� :J V
 +�x�;� �;$$�� &�� f�0�#�� )� ���h�� f�0�#��Cospas-Sarsat VN0 ��
91 k$$�� ^��� �G�2��� )P �S���� f�0�#��- V

 VF6G1I0 �ht�� c0��- .1  5��BSARR @@6�*406  MHz  ������GOES .��*�N� ������ � �G�2� ���D �  

t��� �h1  
 ������� 	
��� 
����� ����SARR  ����� �GOES ������ ������ � �!�"� ���# �  

  

 +��$�� � w�|� ?2�� Q�h�-(BER)  ��2%b5 × 5−
102d�s Vf�0�#�� :J �$����* ��* �� � �B���� �$�9 Q�h� ��2�P Vq� 

 �G�2��� �Y�o�(Eb/(N0 + I0)) ��6�� ��ht� ��x� 2�P GEOLUT )� e�P1 -1 ��-��� VdB 8,8 ���A��� ��! @2}- .
 ��.���� 5�2%�� rY2� �Y�o� �h< � 5�2%� M�6��� '����� f�0�0 ��$B )� �G�2��� )� F�R%�� ���h��spfd  :J �$�9

��6�� �d��! �G@ GEOLUT  ����S=� ������ ~���� Q-@ �;��U )h� &��Eb/(N0 + I0)  Q-@ �� :J8,8 dB.  

 �ht�� � -2$� ���-1�6h� QyY V \�%9=�- ]A$�� +�SAAR  ����( �GOES  @@6�* �H�I�(C� +����� +���<J �$%���
406 MHz  @@6�* ��*�N� ������ ����L� �a��� e�P ����1 � �;�ht�-MHz 1 544,5 ������ )h��� �h� GEOLUT 

������ � 	�
��� f�0�0 5��6D- �d��N� `�� Q�h�- .�;�>���- �;�P �th�� )� GEOLUT ������* ��$�6� GOES 
 ��2%bdB 33,3  -165,96 K .T����� e�P  

 ����@�6�� +������ 5��<J ��.��� ��-�s ��$�-EPIRB  ��2%� ��d�#.�� �$�6�� :J �$����*°5 �@�R� @�a- 	2P ?�D �- .
 ����S=� �$���� Q�h� V�G�2��� ��a��GC/N0  ��2%bdB-Hz 31,1 Q1 ^1 VEb/N0   ^-���dB 5,1 � �Gj� ��2�P- .

 5����� +����� ��ht� ���sJ- ��.���� 6d��G Q�$�L�- ��2%� ����`�� ��6�� 2�P �>���� GEOLUT  �$���� Q�h�
 ����.��Eb/N0  ��2%bdB 10,1 ����S=� �$���� Q�h� Q1 `a���� 5��%�� Q1 �b- .Eb/(N0 + I0)   ��2%bdB 8,8  V�B4� e�P

�@4� 2L� Q��#� M�.� :J ��*�N� ������ � '����� M�6P �G�2��� ���� ^@j� �C1 ^�-6#�� )�Y f�@4� ~-6< )� 
 ����f�0�#�� :J ����L� �a��� �$�9  )� 6o�w* �G�2��� �Y�o� �$�9-dB 1,3.  

�������	 
	���
 

�����  
��	
���  

������ 

 

 ����GOES SARR  

MHz 406 �����	 ���� �����
 ������	(spfd) 

��	����  �������!�"	 ��#$�	 

 = %&'�	dB 33,3

/��'(��	 �)*
  
�+�,-	 ��.0 

MHz 1 544,5

GEOLUT  

K 165,96 = Tsys 
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 ����S=� �$���� Q1 �b-C/N0  ^-��� �G�2� ^1 Z��[ �dB-Hz 31,10�0 ��$B )� �G�2��� QyY V M�6��� '����� f�
 ��2%b ��*�N� ������ ~���� � `$��� ^���dB 1,3  �Y�o� �$�9- f�0�#�� :J ����L� �a��� �$�9 ���� :J ^@j�

 �G�2���(C/(N0 + I0))overall :��� ���  

  (C/(N0 + I0))overall = (C/N0)overall – 1,3 dB 

   = 31,1 dB-Hz – 1,3 dB 

   = 29,8 dB-Hz 

 �$���� `�U(C/(N0 + I0))overall  ������- 52P�R�� ������ �G�2��� �Y�o� �$�9 :J f�0�#�� :J ����L� �a��� �$�9 �Y�0y*
:��� ��� ��*�N�  

  (C/(N0 + I0))overall = ((C/(N0 + I0))
−1

↑ + (C/(N0 + I0))
−1

↓)
−1
 

-�b  V��*�N� ������ �G�2� F�( ?-���� C ���A��� ��! Q1:��� ��� ��@���� c$R�  

  (C/(N0 + I0))overall = ((C/N0)
−1

↑ + (C/(N0 + I0))
−1

↓)
−1
 

 �9�� �\yY(C/(N0 + I0))overall  ^-���29,8  dB-Hz - �9��(C/N0)↑  ^-���dB-Hz 31,3  ��$� �d2�P �$�9
(C/(N0 + I0))↓
 

��2%� dB-Hz 35,1 :(��9@1 6
9�)  

  C/(N0 + I0)↓ = ((C/(N0 + I0))overall
−1
 – (C/N0)↑

−1
)
−1 

-1  

  C/(N0 + I0)↓ = 10 log ((10
–29,8/10 

– 10
–31,3/10

)
–1
) 

-T����*  

  C/(N0 + I0)↓ = 35,1 dB-Hz 

 Q�h�- �#./��� f�0�#�� _/#� �G@ 2�P �G�2� Q-@ ��*�N� ������ � f�0�#�� 5�2%� ��.���� �Y�oh��(LNA)  �!
k T = N0 �]�D k �*�H �! Q��x���* .VT����*-dB(W/Hz) 206,4– = 22,2 + 228,6– = N0 .  

 Q1 �b-(C/N0)↓  ^-���43,8 dB -(N0)↓
 

^-��� dB(W/Hz) 206,4– QyY VC↓  ^-���162,6−  dBW.  

� )� eRB4� 2L� Q�h�- �G�2��� 5�2%� ��.���� �Y�oh�� k* i����� ��*�N� ������  V�G�2��� �$$��� +,(6�� ���� )�
I0(max) _/#�� �G@ 2�P ���%� V(LNA)  ��6��� �$%���GEOLUT � '����� 1 544,5 kHz 100 ± MHz:  

  I0(max) = 10 log (10
(C↓ – (C/(N0 + I0)↓))/10 – 10

(N0)↓/10) 

-1  

  I0(max) = 10 log (10
(–162,6 – 35,1)/10

 – 10
–206,4/10

) 

T����*-  

  I0(max) = –198,3 dB(W/Hz) 

 ��.���� 5�2%�� rY2� �Y�o� �G�2� �$�P �h< � ����L� ����� ��- )�A���-spfd  �h< � �;�P O���
dB(W/(m

2
 · Hz))  ��6��� �d��! �G@ 2�PGEOLUT- .�d��N ����.�� �A�.�� Q�h�V Ae `�� k� VG  :��� ���

Gλ2
/4π = Ae ��6��� �d��N Q�h�- .GEOLUT `��  ��2BdB 33,3 �]��  ��2%� ����.�� �A�.�� ��$�6,42 

 2
m .

 �h< � �2%�� k* i����� �G�2��� ���� eRB4� 2L� Q�h�-spfd:  

  spfd = I0(max) – LLine – Ae 
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 Q1 36�.��LLine = 0.  

  spfd = –198,3 – 0 – 10 log (6,42) 

         = –206,4 dB(W/(m
2
 · Hz)) 

`� ����  eRB4� 2L� s-���� C1� �G�2�� ��$B )� '����� f�0�0 M�6�����6��� 5��B � GEOLUT  '��9 �
1 544,5 kHz 100 ± MHz  ��2%�206,4–  dB(W/(m

2
 · Hz)).  

4.1   ����� ��	�
� ��
��� � ������� ���� ���� ����� ������� �!"�� #�$�%&SARR ''��	  

406  MHz  �(��� �GOES   

 	�
��� k��J 36��� ^��� �G�2��� e�w��Cospas-Sarsat  +��2|� �;�(6� &�� '����� g��G +C�(�=� )� Q��D4� `��[ �
 �������� ��%���� ��2|� +���s�� �o� 5�-��� k$< -1 5�-��� +�B����� �MSS .3�4� :J f�#.�� )�  

\J �� �Y6�� ?�(�=� '��9 36P � 6
��� �I$��- +�@@6��� F2� � �(6� �B���� �9�� �1 544,5 kHz 100 ± MHz  "�
���G ����P f,�JV  V(q��a ����
� +,(6��- 3�4� :J �$����* 56%���� �[ ������� �o�) ��%���� ��
94� �Hw� ���U 2�P

.����-@ ��.* wt�� &�� 6�*-@ �DxDs ��Hp 5�P�6�  

_a���� �G�2��� ���( `�AK�-  �Y�oh�� ���( �h< � �;�P q�O�� '����� � �B���� ��(6�� �@�R�� "�S )Pspfd  �d��! 2�P
 ��6���GEOLUT ��2%� �G�2��� �$$��� �@�R�� �h� +������ ���� s-���� C1 �I$��- .206,4−  dB(W/(m

2
·Hz))  �

.F2�� ��! )� Q�h� ^1  

! ��� `�� u�(1 e�P Z��� ��2%�� ��!- ��6�� �d��GEOLUT  ��2BdBi 33,3 2�2U 2�P V�I$�� ��
9�� q��$�- .
.��(2�N� +���$�PC� )� ��\ �[- Z��%�(C�- �d��N� x��� +���$�P� 5�P�6� V�G�2��� �Hw�  

  

  

 �����2  

 ��	
�� 
�
� ��
��LEOLUT�  
 ���� 
�
�� �
���� ������ ���kbit/s 2,4   !
�"#�$ %���� ���&$ 'SARP    

 ���(��� )�Cospas $Sarsat�  *
�+�� ' �,����� )�MHz 1 545-1 544   

1 
����  

 \�%9=�- ]A$�� �>��� +�2D- 5��B "%�(SARP)  ?2�bkbit/s 2,4 	�
9 � Cospas-Sarsat  '��9 �kHz 5 ± 1 544,5 
 �#./�� ��0�1 +���2� � \�%9=�- ]A$�� 	�
�� ��Y���� ����A�� ��*�N� +,���� e�P(LEOSAR) ��t�9� `$�*- .
 5��B �$%��� ������ ��6D )P �S���� 6�*-@ �DxDs- ��ht��� ����P �;$$�� &�� +�@@6���(SARP)  ?2�bkbit/s 2,4  2�P

 ������LEOLUT  +�@@6��� F2� e�P1 544,5 kHz 50 ± MHz.  

 ?-2>� @2}1  +���%�� ��*�N� +,���� � �� e���� 5�2%�� +��9�x��SARP  ������� �Cospas -Sarsat  +2P1 &��-
 ������ _��R� � +���@=� 52P���LEOLUT  	�
��� � ������ ��Cospas-Sarsat Q1 +,���� ��9�x�� �$�- .

5��%�� SARP  	�
9 �Cospas ���- �N  5��%�� ���- )� F�B1 ?�R��SARP 	�
9 �Sarsat  ����L� ����� QyY T����*- V
 5��%�� ��d,��SARP  	�
9 �Sarsat  5��%�� ��d,� ���� q�#�1 c���(SARP  	�
9 �Cospas.  
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2  -./� �0� �(���� 12 
��+�
3 4�./� )� �5�� �
���� 
�
��PDS  ����2,4  kbit/s 
'  !
�"#�$ %���� ���&$ 
�
�� 6
+7SARP  

 @@6�* �H�I�(C� +����� )P Q��#�� �th�� �B@ ~6�t�406 MHz  � w�|� ?2�� s-���� C1 �;�B�� 2�2U-
+��$�� (BER)  5��%� ��*�N� ������ �SARP  ��2%�1  × 6–

10  ?-2>� 6
9�)1.(  

3  ���8 
�9���� 6	���� �5�� 
5
:;spfd 
����� �,�����  

 +��$�� � w�|� ?2��(BER)  V+����� ��* �� � �B���� �$�9 �! +C�R�� 5��%�Eb f�0�#�� �Y�o� Q�h��- .f�0�#�� �Y�o� :J V
 +�x�;� �;$$�� &�� f�0�#�� )� ���h��Cospas-Sarsat VN0 VF6G1 ��
91 k$$�� ^��� �G�2��� )P �S���� f�0�#��- VI0.  

 �Y�o� �h< � �;�P O��� V�G�2��� ���( @2} Q1 ���A��� ��! Qw< )�-spfd  ��6�� �d��! 2�PLEOLUT &�� V2B 
 5��%�� ��*�N� ������ +��$�� � w�|� ?2�� ~���� :J ^@j�SARP ) Q���� �� � 52D�- ��* ��2%b1 × 6–

10.(  

>�� ?-21  

 ��	�
�� �
������ ���� � ���
�� �������
����� ���� ��� !�  

 �"
���(PDS) #
�	$�% &'(�� ���)% � (SARP)  !� �* � ����+Cospas %Sarsat  

������ Cospas�	� Sarat �	�  
���� 

������ ��	
� ���
 (MHz) 1 544,5  

(����� �����) ������� LHCP 

���
��� ����� (�������!) 5 

���
��"
�#�� (km) 1 000850  

 ��$�%�
� �&'�*
� �+,
� -�����(e.i.r.p.)�"
�#�(1)

(dBW) 
6,27,1  

 �%. ����
� �'�#
�°5 (km) 3 2002 900 /����%0 �!	#1 

 ��� 2�3��� 4#� -��#5(Lp) (dB)166,3165,5 �����6 �7�8 ����	! �!	#1 

 "�9� 4:6 	;<� -��#5(Lf) (dB)10 

 ���#5 =�5>(Lo) (dB) 

(2)
3,6 

?���
� @�A:�� /�+;
 (LUT) 
B6	A��� 

 C��	0(3)(G/T) (dB/K) 4,3 

dB 26,7 = GD 
dB(K) 22,4  = T 

 DE��F��	! G!�Hk (dB(W/(K Hz)))228,6− ���� G!�H 

 �%. ����+
� I�+� "��.kbit/s 2,4Dr(dB-Hz)33,8 

"�*,��� -��#5 (dB) 12,1−14,1−  

I�+� J:6>BER K�' �	L��  6−10 

�	#1(Eb/N0) (dB) 13,313,0 MN.> -���	�� ��A�+
� I�A+���! 

�;
�(Eb/N0) I�+O P�+�� �A�' ���Q%��BER 
M��66−10(dB) 

10,6 

Eb/N0  I�+� "�> R�BER 
�	��
�  

��8� S��0PDS (dB) 2,72,4  

LUT:���� ���	
�� ��
��  
(1) ������ �����	�� ������� �����. 
(2) ����	�� ���� ��!�"# �$�%&� '(%"# )���	*+� ��,�%� -�/ 0/ �1�2 
$�
3. 
(3)  �4��� 
$�
3# ,�5	6+� ��/ ��7�
�� �$�%8 )�46 
$�
3 ���" ��� ,�9%5�� ���
� ;< �$�%&� =
> �4
2G/T ?����� LUT @  A��+%��

 ����
�B� ��C	��= dB 4,3. 
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 ?-2>� �$�1  5��%�� ��*�N� ������ � �� e���� 5�2%�� ��9�x��SARP u�(1 e�P ������ ��9�x�� ��0- 2B- .
+����� LEOLUT  Q1 ������ ��9�x�� �$�- .��a\���� ?2�BER 1  × 6−

10  ��2B ���! "� r%A�� Z�����dB 2,4 
 �������� `%��Sarsate�P ������ ^���� Q1 �I$��- .  ?2��� e�P �Y�U �h� `a�� ���!BER  � )�- .Z�����

C   )� 6o�w* ������ � ~���� :J ^@j� Q1 �G�2��� Z�$(1 ���� �I$��dB 2,4 �Y�oh�� ���� Q�h� ���L� ��! �- .
 V�G�2��� 5�2%� ��.����I0 ��6��� �$%��� 2�P VLEOLUT :(���B� +����) ������� ��@���� � ���  

  N0 + I0 ≤ 10(2,4/10) × N0 

-1  

(���B�) I0/N0 ≤ (
(2,4/10)

10 – 1) = 0,738    

�d2�P-  

  I0/N0 = –1,3 dB 

 �$�9 �G�2��� +�$$�� �Y�h� _��6��� �Hw��� s-���� C1 �I$�� Vk��P-I0/N0 = dB 1,3–   

 ������ :J �$����* ��1LEOLUT  �d��! `�� �N &��G  ��2B26,7 dB  V	�
��� f�0�0 5��6D-T �!�2B VdBK 22,4 
 �#./��� f�0�#�� _/#� 2�P(LNA)  ��6����LEOLUTV�G�2��� Q-@ f�0�#�� 5�2%� ��.���� �Y�oh�� Q�h�Y V N0 V

 VQ��x���* �*�H ���RDk f�0�#�� 5��6D- VT -1 Vk T = N0 �h< � e��K�- VdB :��� �� �� e�P  

  N0 = –228,6 + 22,4 = –206,2 dB(W/Hz) 

 V�G�2��� �$$���� +,(6�� ���� )� �G�2��� 5�2%� ��.���� �Y�oh�� eRB4� 2L� s-���� C1 �I$�� ����-I0(max)  2�P
 _/#��(LNA)  ��6����LEOLUT  '����� �1 544,5 kHz 100 ± MHz :��� ��  

  I0(max) = N0 – 1,3 = –207,5 dB(W/Hz) 

 �Y�oh�� �G�2� �$�P �h< � ����L� ����� ��- )�A���-spfd  �h< � �;�P O���dB(W/m
2
·Hz)  �d��! �G@ 2�P

 ��6���LEOLUT �d��N ����.�� �A�.�� Q�h�- .Ae  `�� k�G  :��� ���Ae Gλ
2
/4π =��6��� �d��N Q�h�- . LEOLUT 

 ��2B `��26,7 dB c$R� ]��2
m 1,4 = Ae  +,G�2��� "��> F�R%�� ������ Q�h� VT����*- . �:��� �� ��*�N� ������  

  spfd = I0/Ae = –207,5 – 10 log (1,4) 

  = –209,0 dB(W/(m
2
 · Hz)) 

 5��%�� '��9 � M�6��� '����� f�0�0 ��$B )� �G�2��� F�R%�� ������ s-���� C1 �I$�� ����1 544,5 kHz 50 ± MHz 
 ��2%�209,0– dB(W/(m

2
 · Hz)).  

4  ������� 	
��� 
���� ����� ���� � ������� 
��� ���� 
��!"SARP  	
��� #�$��
 
%&'�� 
()*+ ��*��� � �������LEOSAR 

 	�
��� k� 36��� ^��� �G�2��� _���Cospas-Sarsat  +��2|� �;�(6� &�� '����� g��G +C�(�=� )P Q��D4� `��[ �
 �������� ��%���� ��2|� +���s�� �o� 5�-��� k$< -1 5�-��� +�B����� �MSS .3�4� :J f�#.�� )�  

 +�@@6��� F2� � �(6� �B���� �9�� �\J �� �Y6�� ?�(�=� '��9 36P � 6
��� `�-1 544,5 kHz 50 ± MHz "� V
���G ����P f,�JV q��a ����
� +,(6��- 3�4� :J �$����* 56%���� �[ ������� �o�) ��%���� ��
94� �Hw� ���U 2�P( V

.����-@ ��.* wt�� &�� 6�*-@ �DxDs ��Hp 5�P�6�  

 �Y�oh�� ���( `�AK�spfd  ��6��� �d��! 2�PLEOLUT ���� s-���� C1 �I$��- . �G�2��� �@�R� �Y�h� +������
��2%�209,0–  dB(W/(m

2
 · Hz))  F2�� )� Q�h� ^1 �1 544,5 kHz 50 ± MHz.  
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 ,
-.�3  

������� 	
��� ��*!/� 
��0 1���� (SARR)  22!�3MHz 406  
 #�$� �Sarsat  4�5��� �1 545-1 544  MHz 67���� ������� 8�  

9�!��� 4�5��� � �:��*�� 8;  

1 
����  

 5��%�� �It�SARR @@6�*MHz 406   	�
9 �Sarsat T��D kHz 100  )� f�2�*� ����� )�kHz 120  ����L� �a��� '�Y
MHz 1544,5 �;�U- k91 CJ X '���9C q�6
9k* i����� @@6��� ����9 	@�%�  V������ �(6� �DxDs-6�*-@  ��6D ��.*

 ������Sarsat ������ QyY V��ht��� ����P `$�* 5��<=� ��t�9�- V�@4� �(�6L� '��9- VLEOLUT  :J g��UkHz 220 
 ����� )�� 2�P 12$kHz 80 ����L� �a��� '�Y MHz 1 544,5  ��\- �;�U- 5��%�� �>���SARR  @@6�*MHz 406.  

 �ht�� c0��2  5��%�� k�It� ^��� @@6���SARR.  

t��� �h2  
 ������ ��	
�� �
��� ���1 544,5 MHz  ���� �Sarsat  

 

2   �:�� � <��.� ���
�� 
���2�!�� ��*��.� ��*�=> 8; ?@/-� A�2B� 8� C���.� D2B� �E�
 F*��5��EPIRB  ������� 	
��� ��*!/� ���� 
5���3 
-�!.�SARR  22!�3MHz 406 

�  #�$���SARSAT 

(C� +����� )P Q��#�� �th�� �B@ ~6�t�@@6�* �H�I� MHz 406  ����( +��6h� 	�2/�(�* �;�B�� 2�2U- Sarsat 
@@6�* MHz 406 +��$�� � w�|� ?2�� s-���� C1 V(BER)  5��%��SARR @@6�*MHz 406   	�
��� �Sarsat  ��2%�5 5−

10 ×. 

 

M.1731-02
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�
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�
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����
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 ������ ����� ���� �� ����
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3  
G�HI �(-J 
(&(5�� �*���� ,G�Kspfd �����-� 
���.�  

 +��$�� � w�|� ?2��(BER)  V+����� ��* �� � �B���� �$�9 �! +C�R�� 5��%�Eb �Y�o� Q��h��- .f�0�#�� �Y�o� :J V
 +�x�;� �;$$�� &�� f�0�#�� )� ���h�� f�0�#��Cospas-Sarsat VN0VF6G1 ��
91 )� �G�2��� )P �S���� f�0�#��- V I0 .

 �ht�� c0��-3  5��BSARR @@6�*406  MHz �� � �G�2� ���D �.��*�N� ����  

���� ��3  

����  ����	
� �
��
 �
����SARR  �����406 MHz  ���� �Sarsat �����
 ���!�
 � "#
$% ���& � 

  

 +��$�� � w�|� ?2�� Q�h�-(BER)  ��2%b5 × 5−
10 2d�s Vf�0�#�� :J �$����* ��* �� � �B���� �$�9 Q�h� ��2�P V

 �G�2��� �Y�o�(Eb/(N0 + I0))  ��6�� ��ht� ��x� 2�PLEOLUT  )� e�P1 -1 ��-���dB 8,8 ���A��� ��! @2}- .
 �Y�o� �h< � 5�2%� M�6��� '����� f�0�0 ��$B )� �G�2��� )� F�R%�� ���h��spfd  �d��! �G@ :J �$�9

��6�� LEOLUT  ����S=� ������ ~���� Q-@ �;��U )h� &��Eb/(N0 + I0)   Q-@ �� :JdB 8,8.  

 5��%�� Q�h�SARR  @@6�*406 MHz  �ht�� �3  ��*�N� ������ ����D �a�� e�P ����� ���ht�1 544,5 MHz  �h�
 ������ )h���LEOLUT  � 	�
��� f�0�0 5��6D- �d��N� `�� Q�h�- .�;�>���- �;�P �th�� )�

��6��� LEOLUT  ��2%bdB 26,7 -K 173,8 .T����� e�P  

��.��� ��-�s ��$� 5��<J ����@�6�� +������ EPIRB ��2%� °5  �- .��d�#.�� �$�6�� :J �$����*?�D @�a- 	2P  �@�R�
 V�G�2��� ��a��GQ�h�  �$��������S=� C/N0 ��2%b 38,8  dB-Hz V Q1 ^1Eb/N0  ^-���12,8 dB . � �Gj� ��2�P-

 Q�$�L�6d��G  ��2%� ����- 5����� +����� ��ht� ���sJ- ��.�����`� ����.�� �$���� Q�h� �>���� Eb/N0 
��2%b dB 10,8 ����S=� �$���� Q�h� Q1 `a���� 5��%�� Q1 �b- .Eb/(N0 + I0)   ��2%b8,8 dB  2L� Q��#� �B4� e�P

 M�.� :J ��*�N� ������ � '����� M�6P �G�2� ^1 ^@j� �C1 ^�-6#�� )�Y f�@4� ~-6< )� �@4� �$�9� �a������L� 
f�0�#�� :J  �G�2��� �Y�o� �$�9-(C/(N0 + I0)overall)  )� 6o�w*2,0 dB.  

 

 ����GOES SARR  

MHz 406 ����	
 ���
 �����
 �����	
(spfd) 

��
���	 �����
 ����	
 ����� 

 = ��!	
dB 26,7

MHz 1 544,5

GEOLUT  

K 165,96 = Tsys 

/��!"�	
 �#$%  
�&�'(
 ��)* 

�����  
��	
���  

������ 

 +
���%�,�-�.0
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 ����S=� �$���� Q1 �b-C/N0  ^-��� �G�2� ^1 Z��[ �dB-Hz 38,8 M�6��� '����� f�0�0 ��$B )� �G�2��� QyY V
 ��2%b ��*�N� ������ ~���� � `$��� ^���dB 2,0  �$���� :J ^@j�(C/(N0 + I0))overall:  

  (C/(N0 + I0))overall = (C/N0)overall – 2,0 dB 

   = 38,8 dB-Hz – 2,0 dB 

   = 36,8 dB-Hz 

 �$���� Z��D )h�(C/(N0 + I0))overall  52P�R�� ������- �G�2��� �Y�o� �$�9 :J f�0�#�� :J ����L� �a��� �$�9 �Y�0y*
:��� ��� ��*�N� ������  

  (C/(N0 + I0))overall = ((C/(N0 + I0))
–1

↑ + (C/(N0 + I0))
–1

↓)
–1
 

:��� ��� ��@���� c$RK� V��*�N� ������ � �G�2��� F�( ?-���� C ���A��� ��! Q1 �b-  

  (C/(N0 + I0))overall = ((C/N0)
–1

↑ + (C/(N0 + I0))
–1

↓)
–1
 

 �9�� �\yY(C/(N0 + I0))overall  ^-���dB-Hz 36,8 - �9��(C/N0)↑ ^-���41,3  dB-Hz  ��$� �d2�P �$�9
(C/(N0 + I0))↓ ��2%� 38,7 dB-Hz :(��9@1 6
9�)  

  C/(N0 + I0)↓ = ((C/(N0 + I0))overall 
–1
 – (C/N0)↑

–1
)
–1 

-1  

  C/(N0 + I0)↓ = 10 log ((10
–36,8/10 

– 10
–41,3/10

)
–1
) 

T����*-  

  C/(N0 + I0)↓ = 38,7 dB-Hz 

 �#./��� f�0�#�� _/#� �G@ 2�P �G�2� Q-@ ��*�N� ������ � f�0�#�� 5�2%� ��.���� �Y�oh�� Q�h�-(LNA) �!  

k T = N0 �]�D k �*�H �! Q��x���* VT����*- .dB(W/Hz) 206,2− = 22,4 + 228,6− = N0.  

 Q1 �b-(C/N0)↓  ^-���dB 42,5 -(N0)↓
 

� ^-��
 

206,2–  dB(W/Hz) QyY VC↓  ^-���163,7−  dBW.  

 )� eRB4� 2L� Q�h�-k* i����� �G�2��� 5�2%� ��.���� �Y�oh��  V�G�2��� �$$��� +,(6�� ���� )� ��*�N� ������ �
I0(max) _/#�� �G@ 2�P ���%� V(LNA)  ��6��� �$%���LEOLUT  '����� �1 545-1 544  MHz  ������ ^���

 5��%�� ��*�N� ������SARR  @@6�*406 MHz:  

  I0(max) = 10 log (10
(C↓–(C/(N0 + I0)↓))/10 – 10

(N0)↓/10) 

-1  

  I0(max) = 10 log (10
(–163,7–38,7)/10

 – 10
–206,2/10

) 

T����*-  

  I0(max) = –204,7 dB(W/Hz) 

 �Y�oh�� �G�2� �$�P �h< � ����L� ����� ��- )�A���spfd  �h< � �;�P O���dB(W/m
2
 · Hz)  �d��! �G@ 2�P

 ��6���LEOLUT V�d��N ����.�� �A�.�� Q�h�- .Ae  `�� k� VG  :��� ���Gλ2
/4π = Ae +��d��! :J �$����*- .

 ������LEOLUT  ��2B `�� �N &��dB 26,7  ��2%b ����.�� �A�.�� Q�h�1,4 2
m . ���� eRB4� 2L� Q�h� ����-

 �h< � �2%�� k* i����� �G�2���spfd:  

  spfd = I0(max) – LLine – Ae 
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 Q1 36�.��LLine = 0.  

  spfd = –204,7 – 0 – 10 log (1,4) = –206,2 dB(W/(m
2
 · Hz)) 

 ���� ������ �;>��� &�� +�B����� � M�6��� '����� f�0�0 ��$B )� �G�2��� F�R%�� ������ s-���� C1 �I$��
LEOLUT  5��%�� :J �$����*SARR  @@6�*MHz 406  ��2%�206,2− dB(W/(m

2
 · Hz)).  

4  ������ � 	
����� 
��� ���� 
����MHz 1 545-1 544  ������ �LEOLUT  ���
� 	����� �����SARR ����� MHz 406  

 ������ �;>��� &�� +�@@6��� F2� � �(6� �B���� �9�� �\J �� �Y6�� ?�(�=� '��9 36P � 6
��� �I$��LEOLUT 
 5��%�� :J �$����*SARR  @@6�*MHz 406 ^1)MHz 1 544,80-1 544,58  -MHz 1 544,42-1 544,20 ����P f,�J "� (

 �Hw� ���U 2�P V���G ��Hp 5�P�6� V(q��a ����
� +,(6��- 3�4� :J �$����* 56%���� �[ ������� �o�) ��%���� ��
94�
.����-@ ��.* wt�� &�� 6�*-@ �DxDs  

 �Y�oh�� ���( �h< � �;�P q�O�� '����� � �B���� �(6� &�� �@�R�� "�S )� �G�2��� ���( `�U-spfd  �d��! 2�P
 ��6���LEOLUT ��2%� �G�2��� �@�R� �h� +������ ���� s-���� C1 �I$��- .206,2−  dB(W/(m

2
 · Hz))  ^1 �

.F2�� ��! )� Q�h�  

 �d��! ?����(�* ��2%�� ��! @2KD 2B-��6�� LEOLUT  ^\6 (��K� ^6d�@ Z��%�(� (LHCP)  ^��� `�� k�
k���B 26,7  dBiHw� 2�2U 2�P V�I$�� ��
9�� q��$�- . )� ��\ �[- Z��%�(C�- �d��N� x��� +���$�P� 5�P�6� V�G�2��� �

.��(2�N� +���$�PC�  

  

  

  

!"#�$ %4  

������ 
��& '��(� GEOLUT  )�*+ �Cospas-Sarsat  
 
�������� ,����#� ,���-. 	����� ���EPIRB 
"��#�  

 	���� 
�����Meteo-Sat  /���� 	01� 2�MSG  
 	
����� 2� ������ �MHz 1 545-1 544  

1 
���� 

 ����( Q�h�MSG  	�
9 � \�%9=�- ]A$�� +��l6hb 5@l-x�Cospas-Sarsat )P 5�@�� +���<J +��l6h�� ��! �$%���- V
 +������EPIRB  @@6�*MHz 406  ������ :J �;�D6�-GEOLUT  	�
��� �Cospas-Sarsat  ��*�N� ������ +�@@6� e�P

 '����� �MHz 1 545-1 544 ��@�6�� cd��� 	�hDw* q,�P- .(RR)  '����� QyYMHz 1 545-1 544  ��2|� :J zR{
 �������� ��%����(MSS) _B6�� `a�b q�2�2U 6R�%�- V3�4� :J f�#.�� )� V356.5  ��@�6�� cd��� )�(RR)  +C�R�� e�P

�� rA��� ��! � ���A��� @2}- .��,���- �H�I�(C� ������� Qwt* �G�2��� )� ����L� ���GEOLUT  �$%��� &��
 ������ ��*�N� ������ � +���<JMSG  '����� �MHz 1 545-1 544.  
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2  ,����#� ,���-. 23 �45"� 6��7� 2� 8���#� 9�7� �:�EPIRB  	���� 
����� 
";��#�MSG  

 @@6�* �H�I�(C� +����� )P Q��#�� �th�� �B@ ~6�t�MHz 406  ������ +��6h� ?����(�*MSG  @@6�*406 MHz V
 +��$�� � w�|� ?2�� s-���� C1(BER) ��2%� 5��%�� �5  × 5−

10.  

3  
0<0��� ������ %=�� 
=�>? 	0"@(spfd) 	
���"�  

 +��$�� � w�|� ?2��(BER) �! +C�R�� 5��%�  V+����� ��* �� � �B���� �$�9Eb �Y�o� Q�h��- .f�0�#�� �Y�o� :J V
 +�x�;� �;$$�� &�� f�0�#�� )� ���h�� f�0�#��Cospas-Sarsat VN0 ��
91 k$$�� ^��� �G�2��� )P �S���� f�0�#��- V

 VF6G1I0 �ht�� c0��- .4  5��BSARR  @@6�*MHz 406   ������MSG .��*�N� ������ � �G�2� ���D �  

 +��$�� � w�|� ?2�� Q�h�-(BER)  ��2%b5  × 5−
10 2d�s Vf�0�#�� :J �$����* ��* �� � �B���� �$�9 Q�h� ��2�P V

 �G�2��� �Y�o�(Eb/(N0 + I0))   ��6�� ��ht� ��x� 2�PGEOLUT )� e�P1 -1 ��-��� VdB 8,8 ���A��� ��! @2}- .
�� ���h�� ��.���� 5�2%�� rY2� �Y�o� �h< � 5�2%� M�6��� '����� f�0�0 ��$B )� �G�2��� )� F�R%spfd  :J �$�9

 ��6�� �d��! �G@GEOLUT  ����S=� ������ ~���� Q-@ �;��U )h� &��Eb/(N0 + I0)   Q-@ �� :JdB 8,8.  

 �ht�� � -2$� ���-4 \�%9=�- ]A$�� +��6h� QyY VSARR �( � ���MSG  �H�I�(C� +����� +���<J �$%���
@@6�* MHz 406  @@6�* ��*�! ���- � �;�D6�-1 544,5 kHz 100 ± MHz  ������ )h��� �h�GEOLUT  �th�� )�

 ������ � 	�
��� f�0�0 5��6D- �d��N� `�� Q�h�- .�;�>���- �;�PGEOLUT  �����* ��$�6��MSG 
��2%b dB 35,7 -105,0 K .T����� e�P  

t��� �h4  
 ������� 	
��� 
����� ����SARR  ����� �MSG ������ ������ � �!�"� ���# � 

 

��$�  5��<J ��.��� ��-�s +������EPIRB ��2%� °5  �- .��d�#.�� �$�6�� :J �$����*@�a- 	2P ?�D  ��a��G �@�R�
 V�G�2���Q�h�  �$��������S=� C/N0 ��2%b 27,4  dB-Hz VQ1 ^1 Eb/N0  ^-���dB 1,4 .-Q�$�L� � �Gj� ��2�P 

6d��G  ��2%� ����- 5����� +����� ��ht� ���sJ- ��.����`��  ��6�� 2�P �>����GEOLUT  �$���� Q�h�

 

 ����GOES SARR  

MHz 406 ����	
 ���
 �����
 �����	
(spfd) 

��
���	 �����
 ����	
 ����� 

 = ��!	
dB 35,7

MHz 1 544,5

GEOLUT  

K 165,96 = Tsys 

/��!"�	
 �#$%  
�&�'(
 ��)* 

�����  
��	
���  

������ 

4

�+�,�-.
 0
���% 
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����.�� Eb/N0  ��2%b8,9 dB ����S=� �$���� Q�h� Q1 `a���� 5��%�� Q1 �b- .Eb/(N0 + I0)  ��2%bdB 8,8  �B4� e�P
 M�.� :J ��*�N� ������ � '����� M�6P �G�2��� ���� ^@j� �C1 ^�-6#�� )�Y f�@4� ~-6< )� �@4� 2L� Q��#�

 ���� �$�9�����L� �a�� :J f�0�#��  )� 6o�w* �G�2��� �Y�o� �$�9-dB 0,1.  

- ����S=� �$���� Q1 �bC/N0  Z��[ � ^1 ^-��� �G�2�dB-Hz 27,4 V��� QyY �G�2��$B )�  '����� f�0�0 M�6���
~���� � `$��� ^���  ��2%b ��*�N� ������0,1 dB  ^@j� :J �����$�9  �Y�o� �$�9- f�0�#�� :J ����L� �a���

�G�2��� (C/(N0 + I0))overall ��� ���:  

  (C/(N0 + I0))overall = (C/N0)overall – 0,1 dB 

   = 27,4 dB-Hz – 0,1 dB 

   = 27,3 dB-Hz 

 `�U(C/(N0 + I0))overall :��� ��� ��*�N� ������- 52P�R�� ������ �G�2��� �Y�o� �$�9 :J Vf�0�#�� ����L� �a��� �$�9 �Y�0y*  

  (C/(N0 + I0))overall = ((C/(N0 + I0))
–1

↑ + (C/(N0 + I0))
–1

↓)
–1
 

 �G�2��� F�( ?-���� C ���A��� ��! Q1 �b-:��� ��� ��@���� c$RK� V��*�N� ������ �  

  (C/(N0 + I0))overall = ((C/N0)
–1

↑ + (C/(N0 + I0))
–1

↓)
–1
 

 �9�� �\yY(C/(N0 + I0))overall  ^-���27,3  dB-Hz - �9��(C/N0)↑  ^-���27,3 dB-Hz  ��$� �d2�P �$�9
(C/(N0 + I0))↓
 

��2%� 35,0  dB-Hz :(��9@1 6
9�)  

  C/(N0 + I0)↓ = ((C/(N0 + I0))overall 
–1
 – (C/N0)↑

–1
)
–1 

-1  

  C/(N0 + I0)↓ = 10 log ((10
–27,3/10 

– 10
–28,1/10

)
–1
) 

T����*-  

  C/(N0 + I0)↓ = 35,0 dB-Hz 

�#./��� f�0�#�� _/#� �G@ 2�P �G�2� Q-@ ��*�N� ������ � f�0�#�� 5�2%� ��.���� �Y�oh�� Q�h�- (LNA) �!  
k T = N0 ]�D Vk VT����*- .Q��x���* �*�H �!N0  dB(W/Hz)  208,4− = 20,2 + 228,6− =.  

Q1 �b-(C/N0)↓   ^-���dB 33,5 -(N0)↓ ^-���208,4–  dB(W/Hz) QyY VC↓  ^-���171,0−  dBW.  

 )� eRB4� 2L� Q�h�-k* i����� �G�2��� 5�2%� ��.���� �Y�oh�� � ��*�N� ������  V�G�2��� �$$��� +,(6�� ���� )�
I0(max) _/#�� �G@ 2�P ���%� V(LNA)  ��6��� �$%���GEOLUT � '����� 1 544,5 kHz 100 ± MHz :  

  I0(max) = 10 log (10
(C↓ – (C/(N0 + I0)↓))/10 – 10

(N0)↓/10) 

-1  

  I0(max) = 10 log (10
(–171,0 – 35,0)/10

 – 10
–208,4/10

) 

T����*-  

  I0(max) = –209,7 dB(W/Hz) 

 �Y�oh�� �G�2� �$�P �h< � ����L� ����� ��- )�A���spfd �h< � �;�P O���dB(W/(m
2
 · Hz))   �G@ 2�P

 ��6��� �d��!GEOLUTV�d��N ����.�� �A�.�� Q�h�- . Ae `�� k� VG  :��� ���Gλ2
/4π = Ae �d��N Q�h�- .

 ��6���GEOLUT `��  ��2BdB 35,7V ����.�� �A�.�� ��$� ]��  ��2%�2
m 12,0  ���� eRB4� 2L� Q�h�- .

 �h< � �2%�� k* i����� �G�2���spfd:  
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  spfd = I0(max) – LLine – Ae 

 Q1 36�.��LLine = 0:  

  spfd = –209,7 – 0 – 10 log (12,0)  

  = –220,5 dB(W/(m
2
 · Hz)) 

 ��6��� 5��B � M�6��� '����� f�0�0 ��$B )� �G�2��� F�R%�� ������ s-���� C1 �I$�� ����GEOLUT  �
'��9 1 544,5 kHz 100 ± MHz ��2%�220,5–  dB(W/(m

2
 · Hz)). 

4  ���� ���	
 ����
���� ������ ������ � ������� �	������!�" #$%�� &� SARR 
''	�� 406  MHz  �(��� �MSG  

 	�
��� k��J 36��� ^��� �G�2��� e�w��Cospas-Sarsat  +��2|� �;�(6� &�� '����� g��G +C�(�=� )� Q��D4� `��[ �
 �������� ��%���� ��2|� +���s�� �o� 5�-��� k$< -1 5�-��� +�B����� �MSS .3�4� :J f�#.�� )�  

� �Y6�� ?�(�=� '��9 36P � 6
��� �I$��- +�@@6��� F2� � �(6� �B���� �9�� �\J �kHz 100 ± MHz 1 544,5 V
"�  ����
� ?�(�=� 5x;a1- 3�4� :J �$����* 56%���� �[ ������� �o�) ��%���� ��
94� �Hw� ���U 2�P V���G ����P f,�J

.����-@ ��.* wt�� &�� 6�*-@ �DxDs ��Hp 5�P�6� V(q��a  

 �Y�oh�� ���( �h< � �;�P q�O�� '����� � �B���� �(6� &�� �@�R�� "�S )� �G�2��� ���( `�U-spfd  �d��! 2�P
 ��6���GEOLUT��2%� �G�2��� �$$��� �@�R�� �h� +������ ���� s-���� C1 �I$��- .¡220,5  dB(W/(m

2
 · Hz)) 

.F2�� ��! )� Q�h� ^1 �  

 ��2%�� ��!-u�(1 e�P Z��� ��� `�� �d��! ��6�� GEOLUT  ��2BdBi 35,7 2�2U 2�P V�I$�� ��
9�� q��$�- .
.��(2�N� +���$�PC� )� ��\ �[- Z��%�(C�- �d��N� x��� +���$�P� 5�P�6� V�G�2��� �Hw�  
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����� �5  

 )����� ���* +��,�MEOLUT  -�.��� �Cospas-Sarsat/  
 �%���( 0������'�	�� &����1� &���23 �4�5��6�  ����,��''	�� MHz 406  

7�	1���  �(����� ������GALILEO   

1 �����  

 �������GALILEO  5x;�\�%9=�- ]A$�� +��l6hb Cospas-Sarsat.  +����� )� +���<J +��6h�� ��! �$%���-
�H�I�(C� @@6�* MHz 406  ������� :J �;�lD6�-MEOLUT  	�
��� �Cospas-Sarsat +�@@6� e�P ������  � ��*�!
 '�����MHz 1 545-1 544.  r���� ���Y �G�2��� )� ����L� ����� rA��� ��! � 	2%�� ���A��� "#�-
�������* MEOLUT  ������� ��*�N� ������ e�P +���<J �$%��� &��GALILEO  '����� �MHz 1 545-1 544.  

2 '8� �9� :�'8� ;� <�%�1� =�4�5��6� &����� &���23 )>�� ����,�� ''	�� MHz 406 
��7�	1� �(����� ������ GALILEO  

 �H�I�(C� +����� �t� _�� �h� �B�H�� 5��R* @@6��� e�PMHz 406  �����( +��6h� ?����(�*GALILEO  @@6��� e�P
MHz 406 V 5��%�� +��$�� � w�|� ?2�� s-���� C1 �I$��5 × 5-

10.  

3  �?�@ AB�( �B�CD �?E?��� 
�����(spfd) �������  

 +��$�� � w�|� ?2�� r�tK�5��%� ?�R�� �* �� � ���#��� �B���� �$�9 )��  V+�9��*Eb f�0�#�� �Y�o� :J �Y�o� Q�h��- .
 f�0�#������S=�  V����6L� f�0�#�� )�N0 �G�2��� �;$$�� &�� f�0�#��- VF6G1 ��
91 )P 8����� VI0. c0��- 

�ht�� 5  ��Y���� ����L� 5��BSAR @@6�* MHz 406  �������GALILEO @�a- "� .��*�N� ������ e�P �G�2�  

+��$�� � w�G ?2�� e�P ?�RA�� ��2%b 5 × 5-
10 �G�2��� �Y�o� q�2d�s f�0�#�� :J ��* �h� �B���� �$�9 Q�h� Q1 �I$�� V

(Eb/(N0 + I0)) �� ��ht��� ��x� 2�P� ��6�MEOLUT  ��-���)� e�P1 -1 dB 8,8 �2B eRB1 ���A��� ��! @2}- .
 f�0�#* k�$t�� �G�2���M�6��� '����� �h< � 5�2%�  �$����* ��.���� 5�2%�� rY2� �Y�o� :J ��6��� �d��! �G@

MEOLUT �;��U )h� &��  ����S=� ������ ~���� Q-@Eb/(N0 + I0)  :JQ-@ �� dB 8,8.  

 �$����-����S=� C/(N0 + I0) �P �*�����2 400  ��9�H/��*(dB/s 26) :T����� �!  

  Overall C/(N0 + I0) = 8,8 + 10 log10(400) = 34,8 dB-Hz 

 �ht�� )� 6;
� ���5 V�$%���  ��Y���� ����L�SAR  �������GALILEO  �H�I�(,� ����@�6�� +������ +���<J
@@6�* MHz 406  ��*�! ���- :J ?�U &����$�MHz 1 544,1  ± kHz 100  ������ ��(��* �>����- �th�� 3�6[4

MEOLUT .Q�h�- 	�
��� f�0�#�� ��6D �a�@- �d��N� `�� ��2%b dBi 27 -K 253 (24 dB(K))  ���Y T����� e�P
 ��6�b r����MEOLUT �� ����SAR/Galileo �$���� ��$�- .G/T ��2%� dB/K 3.  
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t��� �h5  
 ������ �� 	
�� 
������� ����
GALILEO SAR  

  

 ��d�#.�� �$�6�� :J �$����* ����@�6�� +������ 5��<J ��.��� ��-�s ��$�5 +�a�@ ��a��G �@�R� @�a- 	2P ?�D �- .
�G�2���  rA���� q�%Y--6  ���- +�9s��� Z��D)Cospas-Sarsat (  ����S=� �$���� Q�h�C/N0  ��2%b35,4 dB-Hz ^1 V

1 QEb/N0  ^-���9,4 dB ���D � 400 ��9�H/��*��.���� 6d��G Q�$�L� � �Gj� ��2�P- . (dB 0,5)  ��ht� ���sJ-+�9��* 
 5�����(dB 1,0) -`��  �>����(dB 2,0)  ��6�� 2�PGEOLUT  ����.�� �$���� Q�h�Eb/N0  ��2%bdB 9,9 Q1 �b- .

 ����S=� �$���� Q�h� Q1 `a���� 5��%��Eb/(N0 + I0)   ��2%bdB 8,8  f�@4� ~-6< )� �@4� 2L� Q��#� �B4� e�P QyY
��*�N� ������ � '����� M�6P �G�2��� ���� ^@j� ^���  ���� M�.� :Jf�0�#�� :J ����L� �a��� �$�9  �$�9-

 )� 6o�w* �G�2��� �Y�o�1,1 dBk��U )h� C V.  

 ����S=� �$���� Q1 �b-C/N0  ^-��� �G�2� ^1 Z��[ �dB-Hz 35,4k�$t�� �G�2��� QyY V * ^��� M�6��� '����� f�0�#
 ��2%b ��*�N� ������ ~���� � `$���dB 1,1  �Y�o� �$�9- f�0�#�� :J ����L� �a��� �$�9 ���� :J ^@j�

�G�2��� (C/(N0 + I0))overall  ��2%bdB-Hz 34,3 :��� ���  

  (C/(N0 + I0))overall  = ((C/(N0 + I0))
−1

↑ + (C/(N0 + I0))
−1

↓)
−1
 

-�b :��� ��� ��@���� c$R� V��*�N� ������ �G�2� F�( ?-���� C ���A��� ��! Q1  

  (C/(N0 + I0))overall  = ((C/N0)
−1

↑ + (C/(N0 + I0))
−1

↓)
−1
 

 �9�� �\yY(C/(N0 + I0))overall  ^-���34,3  dB-Hz  �9��-(C/N0)↑  ^-���35,7 dB-Hz  �$�9 ��$� �d2�P
(C/(N0 + I0))↓
 

��2%� 39,9  dB-Hz :(��9@1 6
9�)  

  C/(N0 + I0)↓ = ((C/(N0 + I0))overall 
−1
 − (C/N0)↑

−1
)
−1 

-1  

 ������� ��	
��SAR  
 �
�	���GALILEO  

 

 ����� ����I0 = 0 

MHz 406 

 ������SAR  

(�����) ����  
������� (�����) ���� 

M.1731-

 ��!�" ����I0  

 = ��#dBi 27  

 $%�	"&���'�
MEOLUT

 *��
 ���+,MHz 0,100 ± MHz 1 554,1 

 -.����MEOLUT ($�/� �
���'� &����)  

0��� �.1�23���/�5 

6�7	8�� 9:8�
�8;:�'�(LNA)

dB/K 24 = Tsys 
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  C/(N0 + I0)↓ = 10 log ((10
−34,3/10 

− 10
−35,7/10

)
−1
) 

-T����*  

  C/(N0 + I0)↓ = 39,9 dB-Hz 

 Q�h�- �#./��� f�0�#�� _/#� �G@ 2�P �G�2� Q-@ ��*�N� ������ � f�0�#�� 5�2%� ��.���� �Y�oh��(LNA) 
�! k T = N0 �]�D k  �*�H �!Q��x���*VT����*- .dB(W/Hz) 204,6– = 24 + 228,6– = N0 .  

 Q1 �b-(C/N0)↓  ^-���46,7 dB -(N0)↓
 

^-��� dB(W/Hz) 204,6– QyY VC↓  ^-���157,9−  dBW.  

 �$$��� +,(6�� ���� )� ��*�N� ������ � k* i����� �G�2��� 5�2%� ��.���� �Y�oh�� )� eRB4� 2L� Q�h�-
V�G�2��� I0(max) _/#�� �G@ 2�P ���%� V(LNA)  ��6��� �$%���GEOLUT '����� � 1 544,5 kHz 100 ± MHz:  

  I0(max) = 10 log (10
(C↓ − (C/(N0 + I0)↓))/10 − 10

(N0)↓/10) 

-1  

  I0(max) = 10 log (10
(−157,9 – 39,9)/10

 − 10
−204,6/10

) 

T����*-  

  I0(max) = −198,8 dB(W/Hz) 

 �h< � �;�P O��� ��.���� 5�2%�� rY2� �Y�o� �G�2� �$�P �h< � ����L� ����� ��- )�A���-dB(W/(m
2
 · Hz)) 

 ��6��� �d��! �G@ 2�PMEOLUT .V�d��N ����.�� �A�.�� Q�h�- Ae `�� k� VG  :��� ���Gλ2
/4π = Ae Q�h�- .

 ��6��� �d��NMEOLUT `��  ��2BdBi 27 � ��2%� ����.�� �A�.�� ��$� ]��1,5 
 2

m ���� eRB4� 2L� Q�h�- .
 �h< � �2%�� k* i����� �G�2���spfd:  

  spfd = I0(max) − LLine  − Ae 

 Q1 36�.��LLine = 0:  

  spfd = −200,6 dB(W/(m
2
 · Hz)) 

 �G�2��� eRB4� 2L� s-���� C1 `� ����$t���k * ��6��� 5��B � M�6��� '����� f�0�#GEOLUT  ��� '���
1 544,1 kHz 100 ± MHz  ��2%�200,6–  dB(W/(m

2
·Hz)).  

4  ����� ���	
� �
��� ���
�� ������ � ������� ���� �
�! ���	" ##	�� $
�%&�'  

406 MHz  �(��� �GALILEO  

 	�
��� k��J 36��� ^��� �G�2��� e�w��Cospas-Sarsat  +��2|� �;�(6� &�� '����� g��G +C�(�=� )� Q��D4� `��[ �
.5�-��� k$< -1 5�-��� +�B����� �  

 �(6� �B���� �9�� �\J �� �Y6�� ?�(�=� '��9 36P � 6
��� �I$��- +�@@6��� F2� �1 544,5 kHz 100 ± MHz. 
�I$��-  ����
� +,(6��- 3�4� :J �$����* 56%���� �[ ������� �o�) ��%���� ��
94� �Hw� ���U 2�P ���G ����P f,�J

.����-@ ��.* wt�� &�� 6�*-@ �DxDs ��Hp 5�P�6� V(q��a  

 �Y�oh�� ���( �h< � �;�P q�O�� '����� � �B���� ��(6�� �@�R�� "�S )P _a���� �G�2��� ���( `�AK�-spfd  �d��! 2�P
 ��6���MEOLUT��2%� �G�2��� �$$��� �@�R�� �h� +������ ���� s-���� C1 �I$��- .200,6−  dB(W/(m

2
·Hz))  �

.F2�� ��! )� Q�h� ^1  
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 ��2%�� ��!- ��6�� �d��! ��� `�� u�(1 e�P Z���MEOLUT  ��2BdBi 27 2�2U 2�P V�I$�� ��
9�� q��$�- .
.��(2�N� +���$�PC� )� ��\ �[- Z��%�(C�- �d��N� x��� +���$�P� 5�P�6� V�G�2��� �Hw�  

 )��*�6  

>�� ?-22  

 	
���� �
�� �
�����Cospas-Sarsat 

  

LEOSAR GEOSAR MEOSAR

Sarsat PDS
Sarsat 

SARR 

Cospas 

SARR 

GOES 

SARR 

MSG 

SARR 

GALILEO 

SARR 

������ �	
��
�  
 ����

������

�
��
 �����
����� 

�
��
 �����
����� 

 �
��
 �����
����� 

 �
��
 �����
����� 

 �
��
 �����
����� 

 �
��
 �����
����� 

�����
� ���� !�" #$
�%�
 &�'(�� ����
�)*�+�
� �,-���
 	
"�.
� ��/�
� 01 

       

�������� �	
� ��
 SAR (kHz) 1  80,0 100,0 80,0 

�	�	���� ���� �Rb  (Hz)   400,0 

������ (MHz) 2  406,05 

�	���� ���� (dBW)  3  5,0 

 �	���� ����� ��! (dBi) 4  2,0− 

 "�#	$�%� "&'	(%� "�)%� ���*�� (dBW)   3,0 

(�	,���	-) /	01�2� "34�5 5  5,0 

6�%� "'	��(km)   2 900,0 3 200,0 41 126,3 28 354,4 

6�%� ��	�7(dB)   153,8 154,7 176,9 173,7 

 8	
*��2� ��	�7 (dB) 6    4,9 4,5 4,0 

��9� ��	�7 (dB) 6a  2,5   2,5 

��"��$G/T :1	�;� �	���� ����<(dB/K) 7  34,0− 18,5− 22,1− 15,7− 

=	�>���- ?-	@ (dB(J/K))   228,6− 

"��$��C/N0��
	A�� ";B��� C;
 (dBHz)   41,3 40,4 31,3 28,1 35,7 

2�+3 ��4�5� ��/�
�67�8         

 "
-	<� ";B��� ���1 (MHz) 8 1 544,5 kHz 40 ± 1 544,5 
kHz 50 ± 

1 544,5 
kHz 40 ± 

1 544,1 

�	��D� "�#	$�%� "&'	(%� "�)%� ���*��
(dBW) 

9 7,1 6,2 15,0 18,9− 1,6 

 ���*�� E�	*1 ���- F��1 (dB) 10  15,3 15,5 18,3  / 

 :�()��� ��	�7 (dB) 11 14,1 6,0 3,54  / 

(�	,���	-) /	01�2� "34�5 12 5,0 

6�%� ��G (km)  2 900,0 3 200,0 41 126,3 28 354,4 

 6�%� ��G C;
 ��	�7 (dB)  165,5 166,4 188,46 185,3 

"��$��G/TH��
I;� �	�*��2� ����<
LUT(dB/K) 

13 4,3 11,0 15,5 3,0 

 8	
*��2� ��	�7 (dB) 14    0,35 0,2 0,2 

J�7K ��	�7 (dB)  2,6   1,0 

 �3����� ��	�7 (dB) 15    0,20 1,0 0,1 

 J�%� 6A� F����� ��	�7 (dB) 16 10,0      
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>�� ?-22 )����(  

  

LEOSAR GEOSAR MEOSAR

Sarsat PDS
Sarsat 

SARR 

Cospas 

SARR 

GOES 

SARR 

MSG 

SARR 

GALILEO 

SARR 

������ �	
��
�  
 ����

������

�
��
 �����
����� 

�
��
 �����
����� 

 �
��
 �����
����� 

 �
��
 �����
����� 

 �
��
 �����
����� 

 �
��
 �����
����� 

"��$��C/N0"
-	<� ";B��� C;
 (dBHz)  47,8 42,5 48,6 43,8 35,5 46,7 

"��$��C/N0"��	L�� (dBHz)   38,8 39,8 31,1 27,4 35,4 

�	�	���� ���� �Rb  (Hz) 17 33,8 26,0 

Eb/N0 (dB)  14,0 12,8 13,8 5,1 1,4 9,4 

M�0$��� ��	�7 (dB)  1,0 0,5 

 ���	$%� �	�	�- :�()1 ��	�7 
b =(dB) rad 1,1  

18  1,0 

 60)��� ��! (dB)  0,0 2,0 

) "N	�%� ��!5  (�	*O� (dB) 19    7,0 0,0 

2�+3 ��4�5� ��/�
�67�8        

"��$��Eb/N0  "#	��(dB)   13,0 10,8 11,8 10,1 8,9 9,9 

Eb/N0 )P Q
9� ���� :,K R� S�T� (
���*U �	����5 × 5-10 (dB)  

20 10,6 8,8 

V�	�(dB) 21 2,4 2,0 3,0 1,3 0,1 1,1 
 

 ������ �	
�� 
�����2:  

1   ��������	  
��
 �����
dB 1  ��	 �����
 ������MHz 406,05.  

2   �� �����
 ����!��� "�
 #
$$���
 %&
���406,022 &MHz 406,079.  

3  �' %&
��� () *+,� �� �����
 �-�� �5 &dBW 9 ���' /01) ��0��� 2�����& 3(dBW 5)  ������ $45& ���6� 37�8) 9�5 *�& .9:;4�
 9<=
4� >��?
 $$��� 
�
 �+@� (A�0�MHz 406  #�<�B� #��C� �D
& (E F (A-��&G:��&  ����� ��D
& �� H�6��
 9�&
=40 ����:� 9������ 95�$ I�-�J
 ���'& 3

dBW 7 
K
4L
 M��& 3dB 0 I�-�J
 ����8& 3dB 1 3 �
��N 9BD���� 9OP�+� 90@� ���' ��0��Q� 32�����&dBW 6  ���R I��0�-
 (S) ��	�U�
 9:;4�
 V:	
.(�����
 �-�� ���' X-��� 9�B' V:	 �YZ� ��BP�1J
 ������
  

4   (4+�I�-�J
 
K
4R [�B�8 M�����.  

5   G:�� "�
 H�6���
 9�&
= �����5  �����
 \S �����
 *� [�'A�<
 #�5�$$&�?
  
��
 H�6���
 G:��& 9B�]��
 9���� 9B��
35 786  ��
4���� ^:0�� ��BP X:�
GEOSAR &850  ��
4���� ^:0�� ��BP X:�Sarsat  ��)830 &870 & (X:�1 000  ��
4���� ^:0�� ��BPCospas.  

6  .��	�U�
 9:;4�
 V:	 ���CJ
 �R4�& �����
 
K
4L 
��
 >����-�
 M��� >����-�
 ����8 9:;4�
 V:	 >����-�
 ����8 _����& LEOSAR  M�� F
 9����
 F (���?
 F `8Z� 2�����& 
K
4L
G/T I�-�J
 
K
4L. .����:�  

  a6  �� a��Q� #&�6b��' dB 2,5 ([�-�-) Z�c��
 M���) ���CJ
 �R4��  9�BY4�
 �d<
) 9:;4:�C/S R.012 ^e:�
 3J 9�BY4�
 b`R *� 9!�< V:	 [�<�f I4U?
 *+,& .
 g�d��
 9<��h i&��+�J
 j'4�
 *�Sarsat-Cospas  :i&��+�J
 ��l�
)_sarsat@imso.orgcospassarsat.org/-http://www.cospas((.  

7   9����
G/T  $$��� �����
 ������MHz 406  �8�� 9������l+� V:	 m�14n�
 ��
�D 95�$& 
��
 M�+�
 (4+� oBD 3m�14n�
 p6!�� :2���
 4e��
  

  GOES :dB 7,05 = G  = m�14n�
 ��
�D 95�$&K 359.  

  MSG :dB 3,0 = G  = m�14n�
 ��
�D 95�$&K 326.  

  Sarsat :dB 4,0− = G  = m�14n�
 ��
�D 95�$&K 1 000.  

  Cospas :dB 4,0− = G  = m�14n�
 ��
�D 95�$&K 1 000.  

8   $$���
 ���<MHz 1 545-1 544  9���L
 #A;4:� H=4�
 4R�5) *� .9�A��
& 9Y�]�-�
  

9   �:����
 9��D F& .I�-�J
 
K
4R M��& 
K
4L
 �-�� ���' r�-) V:	 9BD����
 9OP�+�
 90@�
 �����
 M�sMSG &Galileo 9OP�+�
 90@�
 �����
 (4+� 3
m�14n�
 ��
�D 95�$& 7�8h
 #
����
 j� 9�����
 �����
 2�tS (4+� 32�����&) 9P&�0� 9B�0�
 �����:� 9BD����
 .(u�`� [�4�@�  

10  4�" w�0��
 _�$) .9Y�]�-�
 ����� ���CJ 9	=4�
 I�-�x� 9BD����
 9OP�+�
 90@�
 �����
 m�5 �����
 X-��� M��� ����y
 ����� F "�����
 X-��� M��� �R
 ��
4��
 #��D F "I�-�x� 9BD����
 9OP�+�
 90@�
 �����
" 9�:0�
MSG &GALILEO.  

mailto:cospas_sarsat@imso.org
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11  � 9	=4�
 I�-�x� 9BD����
 9OP�+�
 90@�
 �����
 �B+@��
 ����8 ���� $$���
 V:	 ��+�:�MHz 406  �) �4��
 �B+@� �CZN $�z
 4e��
 V:	 �����
 {� V:	
 ������� ^:0��MSG  ��
4��
&MEOSAR  ��4s ����� "�
(�C��� $$��.  

12   G:�� "�
 H�6���
 9�&
= �����5  |
���
 *� [�'A�<
 #�5�$LUT .9B�]��
 9���� 9B��
 $&�?
 �����
 b�}��  

13   9����
 ��0���G/T  ~� �+� 9B��
 XB��
 |
���
 ���) *�LUT.  

14   |
���
 
K
4R ���) *� ~� �+� >����-�
 ����8LUT.  

15   |
���
 
K
4R ����� M��� ������
 ����8LUT.  

16   �
��N 9:��?
 954�
 74��� p6!��dB 10  �B+@��
 M��� �wU' ���P IA8j6���
  ���4�&h
 X+e��
 MB���� () ��' 7�8) #
4�' FF M�� 
K
4L
.  

17   #�<�B��
 I�0� G:��400 & �����
 I�-��� ^:0�� ��BP 9B<�Y/9��2 400  ^:0�� ��BP 9B<�Y/9�� �������PDS.  

18   ��	 $�� �B+@��
 �CZ� () [��:	 9:��?
 954�
 F �U' *	 �����
 p0� m����-� [
�d< 3�����
 #�<�B� �B+@� ����80,1 ± 1,1 .(��$
�  

19   |
���
 ��	 �����
 #�<�B�� #��C� ��	 ��$ M��� 9��0�
 M��LUT ��
4��
 9��D F .MEOSAR 3B+@� ���6�� �BY4�
 �d<
) ��D
& 9�C�� 9C/S 

R.012 ^e:�
 3J g�d��
 9<��h i&��+�J
 j'4�
 *� 9�BY4�
 b`R *� 9!�< V:	 [�<�f I4U?
 *+,& .Cospas-Sarsat  :i&��+�J
 ��l�
)
cospas_sarsat@imso.orgsarsat.org/-http://www.cospas .((  

20   #
��+�
 ��:�0��� "�
 ����:� #����
 F ��y
 I�0� G:��5 × 5-10  9B;4��
 F m�5 ���ITU-R M.1478 G:�� �D F 31,0 × 6-10  ����� 9������PDS  

21  .�8
���
 9��D F ���
�!�-
 *+, "�
 9B����
 9BP�1J
 ���CJ
 ���L
 �����  

___________ 
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